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[ Hints and Solutions ]

[ PHYSICS | it g ]

(1) Answer: (1) (1) Answer: (1)
Solution: Solution:
Charge is invariant, so it is independent of frame of I 3R &, 3T T8 (9T T IR 43R 721 e &1 KU w9 H
reference. Negatively charged body have additional mass of . ..
newly acquired electrons, so its mass will be greater. AT fiFe o A SAfofet et 1 o1 SAfTReh S EXell 8, $fery
DT ST 318 BRI
(2) Answer:(3) (2) Answer:(3)
Solution: Solution:
1 coulomb =3 x 109 esu 1 el =3 x 109 esu
(3) Answer: (2) (3) Answer:(2)
Solution: Solution:
F=m F=m
2‘12 _ mv? 2‘12 _ mv?
dmeqr? o dmeqr? oo
/ 1 1
v=4q 2mwegmr v=q 2mwegmr
(4) Answer: (4) (4) Answer: (4)
Solution: Solution:
Electric field is vector quantity and its S.I. unitis N/C forga 815 Uep 9T Wfd & 31N g1 S.I. 911 N/C &
. . _ [MmLT 2] 0!
Dimensional formula = 7%y ﬁtﬁzrqisr: [ni—;]
- 3a-1
[MLT=A™] _ [ML1—3 A—l]
(5) Answer: (1) (5) Answer: (1)
Solution: Solution:
At given point electric field will be only due to inner shell. fu T fig =R foega & el FTARD DI B BRI BT
Q o
E= 47ren(ﬁ)2 E:LZ
2 47r50(%)
__Q
o 971'60R2 = Q
9 R?
(6) Answer: (2) (6) Answer: (2)
Solution: Solution:
V=Wi+V+Vs+W V=Vi+Va+Vs+Vs
_ q 3q 2q 4q _ q 3q 2q 4q
V - 4megr - Amegr 4megr 4megr V - Amegr - 4megr 4megr 4megr
_ _ X
T dmeor T dweor
r=a r=a
. _ q . _ q
' V_(Zwaaa) ”V_(%a)a)
(7) Answer: (3) (7) Answer: (3)
Solution: Solution:
w =q(dV) w =q(dV)
=zero =
Electric field is always perpendicular to equipotential .
surface. R 831 e AT I8 o et 8ietl 8|
(8) Answer: (3) (8) Answer:(3)
Solution: Solution:
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H
|dV|:‘E dr

- (10%' + 103) : (2%‘ —}')
=10V

(9) Answer: (3)
Solution:
U =-PEcos6
For stable equilibrium, potential energy will be minimum.
U =Umin
cosf=1
=0=0°

(10) Answer : (4)

Solution:
- —

¢$=FE- A
40 = (ai +2a§') : (22 +45 +3ic)
40 =2a +8a
10a =40
a=4

(11) Answer : (2)
Solution:
10x 10
Cefr = 10+10
=5uF
qo=CV
go=5x20
=100 uC
Charge on 5 uFis =2
=50pC

(12) Answer : (2)
Solution:

O
O

A

m

_ 3¢
2

(13) Answer : (3)
Solution:

E= (27r20r)

1
Fox=
T

E

(14) Answer : (2)
Solution:

)

(10)

(11)

(12)

(13)

(14)

H
|dV|:<E dr

- (10% +103) - (2% —3)
=10V

Answer : (3)

Solution:

U =—PEcosb

worrft HrTaRen & foly FRIfT St =gfem arfti
U =Unin

cosf=1

=0=0°

Answer : (4)
Solution:

- —
p=F- A
40 = (a% +2a3) : (2% +45 +31})
40 =2a +8a
10a =40
a=4

Answer : (2)
Solution:

10x 10
Cesr = 10+10

=5 uF

qo=CV
go=5x20
=100 puC

5 pF W3 <L
=50 puC

Answer : (2)
Solution:

A I

Answer : (3)
Solution:

E= (27r20r>

1
Fx=
p

E

Answer : (2)
Solution:
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(15)

(16)

(17)

(18)

(19)

(20)

(21)

A B
0 —{F
s = Lo
| Il I

E=0,E)=0,E %0

Answer : (3)
Solution:

in
d)total = w0
Gn _ 3
g 280

qin:gc

Answer : (1)

Solution:

When a conductor is grounded its potential becomes zero
and in electrostatic condition conductor surface is always
equipotential.

Answer : (4)
Solution:

ar.

dg = p4nr2dr
21 [ 42

E-Anr = - J’p47r7' dr

_pr
B=u
Eoxr
Answer : (3)
Solution:

Electrostatic field inside flesh of a conductor is zero.

Answer : (4)

Solution:

Potential difference across capacitor remains constant
Capacitance, C = %

As dincreases, C decreases

Energy stored in the capacitoris U = %C’V2

As C decreases, U decreases.

Answer : (2)
Solution:

6—F A — (2a2+b3).(A%)
0 =2aA

Answer : (4)
Solution:

(15)

(16)

(17)

(18)

(19)

(20)

(21)

0 —{F
R = Lo
| Il I

E=0,E)=0,Ej#0

Answer : (3)
Solution:

— In
¢@Tﬁ'7 0
Gn _ 3
€ 20

3

n=73C

Answer : (1)
Solution:

e et aTetan Y J-Erufdhe fohaT ST &, oY 39T fava 7 &1 ST
& qer fRRfIga fef 3 arere &1 g8 aca wfava e 81

Answer : (4)
Solution:

4t

dg = p4T[I'2dI’

T
_ 1
E-4mr? = . bfp47rr2dr

Eoxr

Answer : (3)

Solution:

freft aiTete & SFer FRRART & g7 BT 21
Answer : (4)

Solution:

FeTRa # fopfaroR frad wear s

e, € = 22

SRS d gedl 8, C Tedt
TR & Hfed Soif U = 102
S-S C et ], U Tedt 81

Answer : (2)
Solution:

6—F A — (2a2+b3) : (A%)
0 =2aA

Answer : (4)
Solution:
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By =2 = 22 = —(2)°(-1)* =4 N/C

(
B, =2 — a2y = - 1) (2)(—1)3 —4 N/C

2
—0
B = = —ay’s2” = (1) (2)°3(-1)° =12 N/C
— R N ~

E = <4i+4j—12k> N/C

(22) Answer : (2)

Hint:
Energy = +CV?
Solution:
2 uF
1l
-L 1]
1uF
T 1l
g ukF
II
Il
100V

Energy = 5CV?

= (2)(100)* x10°®
=104 x 1076
=1072

=10mJ

(23) Answer : (1)
Solution:

E=-% = AV=-[Ede
= area bounded by curve with x-axis

(24) Answer : (3)

Hint:
Both shell acquire common potential after connection.

Solution:
2Q + x

Let x charge flow from inner shell to outer shell.

K(Q— K(2Q+
V:irmer = (% i + _( ;; 2
K@Q-=)  K(Q+z)
V;)uter = TR R
V;nne'r‘ = V:mter
Q =X

Hence, net charge on outer shell = 3Q

(22)

(23)

(24)

By =2 = 22 = —(2)°(-1)’ =4 N/C

(
B, =2 — a2y = - 1) (2)(—1)3 —4 N/C

2
—0
B = = —ay’s2” = (1) (2)°3(-1)° =12 N/C

— N N ~
E = <4z’+4j—12k> N/C

Answer : (2)
Hint:
it = 2CV?

-2
Solution:

2 uF
I

+1 uF

g ukF
I
|l
100V
S =10V?
=2 (2)(100)* x 10°®
=10%x 1076
=10"23
=10mJ

Answer : (1)
Solution:

E:A%‘;—:>AV=ffEdm
= X <3781 & 1 Ih g1 UReg &l

Answer : (3)
Hint:
HAIS & 9IS Q1 D11 SIS fa UTH vt &

Solution:
2Q + x

HTT X 37127 TR PIT  STaT DI Y 3R Fared & &1

_ K@w) | K(Qta)

Var'ﬁrhzs R 2R
_ KQ=) | K(2Qtz)

Vm— 2R + 2R

V. S Vm

Q =X

31, &I P TR AT MY = 3Q
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(25)

(26)

(27)

(28)

(29)

(30)

(31)

(32)

Answer : (4)
Hint:

Capacity of parallel plate capacitor= C =

Solution:

C depends on area of plate, medium between plates and
separation between plates.

Itis independent of charge on plates and potential difference
across the plates.

Az
d

Answer : (4)
Solution:
Field lines should be perpendicular to metal surface

Answer : (3)
Solution:

V= 0192
4meyr

When electron is brought towards proton, the potential
energy of the system become more negative.

where g1 and g2 are taken with their sign.

Answer : (4)
Solution:

In uniform electric field, fnm: 0

If force passes through line of action, then torque will be
zero.

Answer : (3)
Solution:
« Capacitance of parallel plate capacitor
C = stoA
« In series combination
i _ 1, 1,1, ..
Coy O + C, + Cy +

eq

Answer : (2)
Hint:

kpcosf

Va=
Solution:

2

kpcos30°
Vy= 22

2

Answer : (1)

Solution:

CiVitGVy, oV V.
C,+Cy, ~ KC+C =~ K+1

Common potential V =

Answer : (2)

Solution:
For proton For alpha particle
X =2vt
1 X =vio
14E 2
Yp =5t 1 4E 2
2 m "1 Yo = Em—atz
_ leE a*
Yp =7 my 402 _ 1QF g
1 eEz? 2 dmp o2
Y=k __ eExr®
Ya SK

For same X, yq > Yp

(25)

(26)

(27)

(28)

(29)

(30)

(31)

(32)

Answer : (4)
Hint:

IR Tole GuRFT Hl gRdar= ¢ =
Solution:

C ®IT P &Fal, RIC| P dia AT 3R wicl & d19 H1 g R FR
Pt Bl
I8 WISt IR 39T 3R Wiet & §i favaior W ik 78l et 81

Agy
d

Answer : (4)
Solution:

87 T T 1 e 2 il B TR

Answer : (3)
Solution:

V = 1L gl g1  gp DI 3 I8 b e felar w8l

4meyr

T4 geTae T 1 HISH & fFiepe o STl &, a9 fiepra &Y feifers
Sl 3Tfeies FHMTas 8 STl B

Answer : (4)
Solution:

THEA e &% F,_ =0
IS et fohaT YT 3 oI &, 79 gt ST < 8|

Answer : (3)
Solution:

« FHICR Tic HETRA ! ST

KeogA
o i

d
o 0fiopT T o
1 1

=L, 1,1
ch*01+02+03+

Answer : (2)
Hint:

kpcosf
Vy =

Solution:

r2

kpcos30°
Vy =2

_ Bk
Va=% %

Answer : (1)
Solution:
PREfE frrg v = S OV _ Y

C,+C,  KC+C  K+1

Answer : (2)

Solution:
e & A T HUT & g
X =2vt
1 X=viy
1gE 2
Yp =3t _14E 2
2 Ya = zm_a 2
_ leE 2
Yp =2 'm, 42 _1(2)E g2
_Lesz 2 dmp 2
yp_ 16 K Yo = eEx?
XS R, yg>yp 0 K
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(33)

(34)

(35)

(36)

(37)

(38)

(39)

(40)

Answer : (4)
Solution:
Electric field lines originate from positive charge and

terminate at negative charge. Number of electric field lines is

directly proportional to magnitude of charge.

Answer : (3)
Solution:
F=qE
[
dregrd
F x T%

F 1

8
= Fy = 8F

Answer : (4)
Solution:

p=%
¢ =2

€o
q

T 8o

Answer : (1)
Solution:

. p

T dmeor?
p=8x10"12¢cm
r=2m
4;60 =9x10° Nm? C2
V= 9x109x8x 107"

@?

=18x 1073V

Answer : (4)

Solution:

Capacitance of spherical capacitor
C =4mneqr

9 102

X
2 7 9x10°

=05x10"11
=5pF

Answer : (4)

Solution:

Electric charge inside the conductor is zero, so electric field
will be zero.

Answer : (4)
Solution:

v=X

27 x %71‘1‘3 = §WR3

27kq
- 3r
_ 9%
- r

X=9

Answer : (2)
Solution:

(33)

(34)

(35)

(36)

(37)

(38)

(39)

(40)

Answer : (4)
Solution:

gt &3 YT e 3TTaer § Seut Bt § SR UM M i)
FATH Bt B | gt & N3t ohl TReAT MaeT o gRRHATOT o AT
B Bl

Answer : (3)
Solution:
F=qE
— P
dregrd
F x Tis

F 1

8
= Fy = 8F

Answer : (4)
Solution:

p=%
¢ =2

€o
q

8c0

Answer : (1)
Solution:
P

4megr?
p=8x1012¢cm
r=2m
4;60 =9x 10" Nm? C?
V= ©10x8x102

@’

=18 x1073Vv

Answer : (4)
Solution:

MR FYTRA bl TR
C =4mneqr

102
9x10°

_3
=5 X

=05x10"11
=5 pF

Answer : (4)
Solution:

TTeTdh & e FIEe 3aer o BT &, gy g & o 2

Answer : (4)
Solution:

v==

27 x %71‘7‘3 = %wRS’

27kq
- 3
_ Ok
==

X=9

Answer : (2)
Solution:
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(41)

(42)

(43)

Obviously, from charge configuration, at the centre electric
field is non-zero. Potential at the centre due to 2q charge
_ K(2q)

Va, = —— and potential due to — g charge
Vg= k(;q) (r = distance of centre point)
2q »
S '

- Total potential V= Vpq+V_g+V_g=0

Answer : (2)
Solution:
KO@® _ EOQ)

42 (47(1)2

E

4
d
1

u

3d

1
d
4
d
Hence positionx=-1+d=0

Answer : (3)
Solution:
e=16x10"19¢C
qg=ne
1=nx16x10"19

n=—— =625x10"
1.6x1071

Answer : (1)
Solution:

Electric field (E) due to charged
spherical shell

Electric potential (V) due to charged
spherical shell

Electric field (E) due to uniformly
charged solid sphere

Electric potential (V) due to
uniformly charged solid sphere

(41)

(42)

(43)

10

TIE HY H, A I ¥, Fs W g &7 17T 81 2q 39T F
PR 5 R R Vy, = 2o & el — g 3T % BRI e

V=2 r=dufigigd
2q »

L PARIV=Vog+V_g+V_g=0

Answer : (2)

Solution:

KO@® _ KOO
42 (4—d)2

1_ 3

d 4—d

4—-d=3d

d=1

gafufefIx=—1+d=0

Answer :(3)
Solution:
e=16x10"1%¢C
g =ne
1=nx16x10"19

n=———=625x10"
1.6x1071

Answer : (1)
Solution:

m

STAIT AR 1 HRT gy &
(E)

<

SR TMATBR D1 &b HROT I

>r
E
A
THEH B F AT 31 Met &
HRUT g & (E) N
>r
UHEIH ®0 H AR I A 6 —
BT fRg favga (V)
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(44) Answer : (2)
Solution:
(10-V4)C+(20—V4)C+ (30 —V4)C + (40— V4)C =0
4V =100
Va=25V
(45) Answer : (2)

Solution:
Less is the density of field lines, weaker is the electric field.

(44) Answer : (2)
Solution:
(10-V4)C+(20—V4)C+ (30 —V4)C+ (40— V4)C =0
4V =100
Va=25V

(45) Answer : (2)
Solution:

&1 XT3 T TIcd FSTeT &9 BT, fIegeT i IaT &1 gaeT B |

CHEMISTRY | R s

(46) Answer : (4)

Solution:
Alkanes Boiling point/(K)
2-Methylpropane 261.0
2-Methylbutane 300.9
2,2-Dimethylpropane 2825
Hexane 341.9

(47) Answer : (2)
Solution:
The rate of reaction of alkanes with halogens is
Fo>Clp>Bro > 1o

(48) Answer : (1)

Solution:
n-Hexane - AGHC H.—CH—(CH,),~CH,
Sh,
(2-Methylpentane)
CHa—CHz—EH—-CHz—-CHS
¢h,

(3-Methylpentane)

(49) Answer : (2)
Solution:

(46) Answer : (4)

Solution:
T FRFID /(K)
2-AfeTHoT 261.0
2-Afeege 300.9
2,2-SAfRIGTIIUT 2825
BT 341.9
(47) Answer : (2)
Solution:
BAINT1 b T1ef YocheT <l SIfTehaT &b T BT hH &

Fo>Clp>Bro > 1o

(48) Answer : (1)
Solution:

fasier AlCL/HCI
n-eae 2

>CH,~CH—(CH,),~CH,
l
CH,
(2-Af¥reue)
+
CHa—CHZ—(IZH—CHz—CHa

CH,
(3-HfredeT

(49) Answer : (2)
Solution:

11
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(50)

(51)

(52)

(53)

(54)

(55)

Cu/523 K00 atm

CH,+ O, » 2CH,OH
Mo, O, (A)
A
HCHO +H.,0
(B)
Answer : (4)
Solution:
SO,H
Cr0,, 773 K H.S0, (SO
n-Hexane ——— ::@ 2904 ( 3‘:@
10-20 atm A
(A) (B)
Major Major
Answer : (2)
Solution:
NalH, Y
CH,~C=C-H——>CH.,—-C=C Na
l CH,-CH.~Br
\r
CH,-C=C-CH,-CH,
Answer : (2)
Solution:

Alkenes and alkynes decolourise reddish orange colour of
the solution of bromine in carbon tetrachloride.

Answer : (2)
Solution:
Alcohol
CH,—CH, + KOH—> CH,=CH-Br
I | (A
Br Br )
NaNH,
Red hot Fe T
Tube, 873 K CH = CH
(B)
(C)
Major

Answer : (1)
Solution:

e CH3-(I3H-CH3
CH,-CH=CH 7

- = A
3 2 m) I»Sajgr
‘HsCo
%0, > CH,~CH,~CH,—Br
(B)
Major

Answer : (3)
Solution:

(50)

(51)

(52)

(53)

(54)

(55)

Cu/S23 KOO atm

CH,+ O, > 2CH.OH
Mo, O, (A)
A
HCHO +H.0
(B)
Answer : (4)
Solution:
SO,H
Cr,0,, 773 K H,S0, (SO
N =29 :oza( 3;':
10-20 atm A
(A) (B)
™= ™
Answer : (2)
Solution:
NaNH, " S
CH.~C=C-H——>CH,~-C=C Na
l CH,-CH.~Br
\»
CH,-C=C-CH,—CH,
Answer :(2)
Solution:

Uehid 8T Ve g BIe CCTFARISS H S fJerde & ATl T
3T T foRfSIT R

Answer : (2)
Solution:

CH,~CH, + KOH —>[E§CH2=CH—Br

1 | (A)
Br Br
NaNH,
Th OH Fe
€«——CH=CH
873 K (B)
(C)
HET
“J
Answer : (1)
Solution:
. CH_,,—?H—CI—ES
Br
CH, - CH=CH, (A)
P ate)
Mo, =
"70.0,* CH,~CH,~CH,—Br
(B)
5@1
Answer : (3)
Solution:
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: opae™ CH:;-('l.I Hm{'.ITrH--CH:_
5
OH OH
(A)
0,y Majar
CH,COOH

(B)
Major

peet®

But-2-ene Kign

A

(56) Answer : (3)
Solution:

()

(Cyclohexane)

(57) Answer : (1)
Solution:

CH,-C=CH + H- Br — [CH!,-(li=CH;.]
Br

lH Br

?r
CH;—?—CH_»;

Br

(58) Answer : (2)
Solution:
Alkynes are more acidic than alkene
Correct order of acidity
CH=CH>CHp =CHp >CH3 - CH3

(59) Answer : (2)
Solution:

-1
5 4 3 2,CH.iyo
CHy,~CH,~C=C{_ >0 %

I \cH, M ZnH0 CHfCH?_(I::O
s (Butan 200|-r|13&}
u =
(A) i
CHS—(IC‘],—CHa
(Propanone)

(60) Answer : (2)
Solution:

CH, CH, COONa —*%, CH; — CH,
NaOH

(61) Answer : (2)
Solution:

(56)

(57)

(58)

(59)

(60)

(61)

G5 CHy=CH-CH-CH
;aﬁt 3 | | 3
OH OH

28 T, (A)
= Mno e
N) qeq
& CH,COOH
(B)
b
Answer : (3)
Solution:
Ni
(TTSFATE )

Answer : (1)
Solution:
CH.,-C=CH + H-Br — [CHS—?=CH}]

Br

lHBr

?r

CH3—?—CH1

Br
Answer : (2)
Solution:
Tl Yo I 3ffeid e B &
TFCTCT BT Hal o
CH=CH>CHp=CHp >CH3 - CH3
Answer : (2)
Solution:

1
5 4 3 2,CH,o, B

CH, CH,
(A) (A 2-1)
CH 3—C-C“ H;
@]
(SITU1H)
Answer : (2)
Solution:

CH; CH, COONa %, CH; — CH,
NaOH

Answer : (2)
Solution:
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H/PdiC H,Cx\ ~CH,
CH,-C=C-CH,——— / C\
Quinoline  H A) H

Cis-But-2-ene
+H

Na/liquid NH, H,C~
—> C=C
CH,

CH,—C = C—CH; W
(B)

Trans-But-2-ene
Dipole moment of Cis-isomer > Dipole moment of trans-
isomer
Melting point of trans-isomer is higher than the cis-isomer.

(62) Answer : (3)
Solution:
Stability of conformers of ethane
Staggered > Skew > Eclipsed
Lesser the torsional strain, higher is the stability of
conformer.
(63) Answer : (4)
Solution:
IH
CH,—C=CH + HOWCH ~C=CH,
OH
(A)
llsomerisation
|
O
(B)
(64) Answer : (1)
Solution:

Electron withdrawing group decreases the electron density
on the benzene ring and also decreases the reactivity
toward electrophilic substitution reaction.
So correct order is (A) > (B) > (C)

+H =K

+H
C-H1 CH.L., I"~.ilCZI'2
NO, NO,
-R  -R
(65) Answer : (3)
Solution:

(62)

(63)

(64)

(65)

14

H/PdIC H,CN
L

THYE-e-2-87

Na/Za NH, H,Cx sH
CH,-C=C-CH————> C=C\CH
3

»CH,

CH,~C = C-CH 4

H”

fomersge-2-47
HUE -1 T fagd et > fuer-FHraga o1 faga ameet
fAuer-THTeIa &1 TeTidh THUS-THTRd ¥ J1fdd Bidr &1

Answer : (3)
Solution:
TN P FHYUTT BT AR
HiARd > ¥R > 7fd
RIS G919 fSIT=T 9 BT, TRoUUT T TR ST 81 37feid BT
Answer : (4)
Solution: .2
CH,~C=CH + H,0 5 - CHs—(IZ-CHz
OH
(A)
[t
{3H3-11|‘.|:-(3H3
0]
(B)
Answer : (1)
Solution:

STTCI STHST THE Sof JeTd TR erdre M BFcd Pl & &R ol &
TR Serae gl ufereerTam 3rfyferar & wifdy arfrframsfierdr o off
eI Bl

ara: WﬁWT(A)>(B)>(C)%"

+H —R
CH H.
.E‘
—R —R
Answer : (3)
Solution:




Final Test Series(P1)-2024-25 Test-05A

(66)

(67)

(68)

(69)

(70)

(71)

OH H:C\g CHs
Zn CHy~CH,~CH,~CI_
T}@ Anhyd. AlCT,
(A) (B)
Major
Answer : (2)
Hint:

A double bond consists of one ¢ and one 1t bond
Solution:

H H O
HZ éﬁ Cﬁ l‘,!,:. ””ﬁ
(%]
o ® 18& 2 e
H H ¢
o rr!lrr
n (3]
' Cﬁ«l‘cfﬁC\H
|ﬂ
1-C0
¥ 1o H
H

Total number of d bonds = 23
Total number of mbonds =4

Answer : (4)

Hint:

188 g of AgBr contains 80 g of Br.
Solution:

188 g of AgBr contains 80 g of Br

80 x 0.94

0.94 g of AgBr contains —

g of Br

. . 80x 0.94 x 100
Percentage of bromine in the compound = ———
188 x 1.25

=32%

Answer : (3)

Hint:

Bridgeheaded hydrogen does not take partin
hyperconjugation.

Solution:

Alkenes having a-H atom can show hyperconjugation.

Answer : (3)

Solution:

The order of decreasing priority for the functional groups is
— COOH >-COCI>-CN >-CHO

Answer : (3)

Solution:

Distillation under reduced pressure is used to purify liquids
having very high boiling points and those which decompose
at or below their boiling points.

Answer : (3)
Hint:

(66)

(67)

(68)

(69)

(70)

(71)

15

OH

Zn CH,-CH.-CH.-CI

=i Alcl,
(A)

Answer : (2)
Hint:
U fade 5 U 0 3R U 1 99 Bl &

Solution:

ﬁ'1ﬁ
H—C??G=TCn

o 91 1 Pt &1 = 23

T 58I T et T = 4
Answer : (4)

Hint:

188 g AgBr ¥ 80 g Br 8T &l

Solution:
188 g AgBr® 80 g Br &l &

0.94 g AgBr¥ 2% g Bravrd

ﬁ&l ﬁ ﬂﬁ Em__;r%%m_ 80x 0.94 x 100

188 x 1.25
=32%
Answer : (3)
Hint:
g off Erggiar STfrigm= & W & ot
Solution:

0-H TRATY] aTeft Teehi= STferage gt Febelt 2

Answer : (3)

Solution:

TerIiceTe Tgl & il Tedt urefiendT &1 o9 &
— COOH >—CoCl>—CN >—CHO
Answer : (3)

Solution:

R 19 W 31Te T SWINT 31 {eeh Fod ara2iid dlel gdi il
I T IT ST o JTefed B dTet ga & Ry & faiv

b ST 21

Answer : (3)
Hint:

H3C\GH/C’H3

(B)
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PbS is a black precipitate
Solution:
* Fe4[Fe(CN)gl3: x H2O : Prussian Blue

«[Fe(SCN)J2* : Blood Red
* AgCl : White

(72) Answer : (3)

Solution:

—R effect is observed when the transfer of electrons is
towards the atom or substituent group attached to the
conjugated system.

—R effect groups: — COOH, — CHO, — CN, — NO»

+R effect groups: — OH, - OCH3, — NH2, - NHCH3g,

NHCOCH3

(73) Answer : (1)
Solution:

Correct structure of Pyrrole is

« Pyrrole is heterocyclic aromatic compound with 61t
electrons in conjugation and ‘N’ atom is present in the ring.

(74) Answer : (2)
Solution:

Itis in accordance with IUPAC

4-Ethyl-3-methyloctane

(75) Answer : (2)

Solution:

Hint: In Kjeldahl method, nitrogen in the compound gets
converted to ammonium sulphate.

Sol.: Kjeldahl method is not applicable to the compounds
containing nitrogen in nitro and azo groups, as nitrogen of

these compounds does not release ammonia gas.

(76) Answer : (3)
Solution:
Glycerol can be separated from spent-lye in soap industry by

using distillation under reduced pressure.

(72)

(73)

(74)

(75)

(76)

16

PbS U PTelT 31a8T &
Solution:

* Fe4[Fe(CN)gl3- x H2O : Ui &,
« [Fe(SCN)J2* : 3 ST e
« AgCl : e

Answer : (3)
Solution:

— R JTd T Hfar 81T & 519 Seldg M1 T SR Tg#T Ferr §
ORATY] 7 TforeTd FE Y 3R B B

— R Y94 dlel ¥g : — COOH, — CHO, — CN, — NO2

+ R U9 ael 98 : — OH, — OCH3, — NHp, — NHCH3,
NHCOCH3

Answer : (1)

Solution:
UTSRIET b Hel TReT 77 &
/ N\
N
I
H

« UTSRIeT faveehia Qe e & s S 9 671 serag e
& 3R g7 J 'N' IR BT B

Answer : (2)
Solution:

IUPAC & 3I9R
CH,

4-0fler-3 AT

Answer : (2)
Solution:

Hohdt : Bresicr fafe 3, it = SuRT ATgg o S Hothe o
aRafcrd 81 STl 2

&1 : hosie fafe ATET deN Tal 8 H ST Agg e gh At
& forq e €1 Bl aieh o1 ] & ATee o o i I
EEEaGl

Answer : (3)

Solution:

I ST H e TS § Forerier ol (11 319 31ra &1 Uit
FRh YA bt 1T e B
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(77)

(78)

(79)

(80)

(81)

(82)

(83)

(84)

Answer : (2)

Solution:

Electromeric effectis temporary effect while inductive effect,
resonance and hyperconjugation are permanent effect.

Answer : (2)

Solution:

* Halogens are moderately deactivating because of their —I
effect.

* Due to resonance, the electron density on o- and p-position
is greater than that at the m-position. Hence, they are also o-
and p-directing groups.

Answer : (3)
Solution:
Order of stability : )
CH,
CH,
: |
CH,<CH,-C <
I

CH,

<CH, =CH-CH,

Answer : (4)
Solution:

(Propanamine) |

H
(N-Methylethanamine)

are functional group isomers

Answer : (1)
Solution:
Among the following, —NO2 has the highest I effect

Answer : (1)

Hint:

The species which will generate stable carbonium ion will
react very fast with aq. AQNO3

Solution:

Br

®
A + AgNO,—> /\ +AgBr|

Aromatic
species

Answer : (4)
Solution:

__ 31x2x1.11x100

Percentage of phosphorous = P08 =38.75%

Answer : (4)
Solution:
Mole of N2 (n) =

(680—20)x 0.1
760 x 0.0821 x 300

P

i
RT

n =

(77)

(78)

(79)

(80)

(81)

(82)

(83)

(84)

17

Answer : (2)
Solution:

SATFEIR YT SRR Ho77d &Il & STaifds U=oft 9oy, 3FATe 3iR
aTforge Tt gTE B 2

Answer : (2)
Solution:

« BN 3T —| THTE & HRUT HEIH BU I ffehardry 81 1
« 3TFITE & HROT m AR 6T G H o- T2 p-FEAfRI R Serag =
o< 3Tfdie BIaT &1 31d: A 0- T p-afdre off 81§

Answer : (3)

Solution:
TRATRIT BT
CH,
CH,
. |
CH,<CH,-C <
I
CH,
<CH, =CH-CH,
Answer : (4)
Solution:

i; E =, I
] H = =
(N-AfereraeiT)

USRI HHE S B

Answer : (1)
Solution:

frfAfEd 5 § —-N O, &1 —| g9Ta ifdedd aidm 8l

Answer : (1)

Hint:

ST wdtefier Terrf BeiFTT S I B, 9 Jefi AgNO3 &
1y srfde e & Ififehar Bt

Solution:

Br

®
A + AgNO, —> /\ +AgBr |

wAfeE
wfrftst

Answer : (4)
Solution:

BN 1 IR = mxi;;w = 38.75%
x0.8

Answer : (4)
Solution:
_ PV
Np o H1ef (n) = 2=
(680 —20)x0.1

T 760 x 0.0821 x 300
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(85)

(86)

(87)

(88)

n = 3.526 x 107

N = 3526103 x 28 x100

Percentage of 0

=19.75%

Answer : (4)

Hint:

Electron donating group present at para position to the given
cations will stabilise the cation by resonance.

Solution:

—OH is electron donating group and stabilises the benzyl
cation by +R effect.

Answer : (4)
Hint:
C3HgO has one degree of unsaturation.
Solution:
OH A~
P L e

/\%/H i

Answer : (2)

X
Solution:

The more the number of important contributing structures,
the more is resonance energy.

Answer : (2)
Solution:
CH,— cI:H —CH,—
CH,
is isobutyl group
List1 |[|lList-m |
CH,—CH—CH—|
I :||lsobutyl
CH,
CH, I
I
CHE—C— :|[tert-Butyl
I
CH,
]
GHB—CI:—CH.‘. — :[[Neopentyl
CH, |
CH,—CH,—CH—||
| :[|sec-Butyl
CH,

(89) Answer : (3)

(85)

(86)

(87)

(88)

18

n = 3.526 x 107

-3
0% N = 3.526 ><1005>< 28 x 100

=19.75%

Answer : (4)

Hint:

g g e 3 RT R IR SUREIT elarg ™ ST TE SFATE GRT
T Y TRART v |

Solution:

—OH g Soldg STl T & AT +R T9Td R Sf=3ret &1+ &l
TR} PR B

Answer : (4)
Solution: ITX (4)

T : C3HgO A SRIJHaT I IS Tap 1
WDH WDH .-;r"“'-..of

:/\%/H j\

OH
Answer : (2)

Solution:

T2 TNTE < dTeft TRaTaT hl TReaT ot arfeies rfY, JrgATe
Tt el & 3rfeias Bt

Bl

Answer : (2)
Solution:
CH,— (I.')‘H — CH, —
CH,
ST T8 &
-1 | -
CH.—CH—CH.—||
| ||eTTsE e
CH,
CH, I
I
CHE—CI‘.— |-t
CH,
™
GHB—(IJ—CH: —  ||[Fremfee
CH, |
CH,—CH,—CH—|
| | o=
CH,

(89) Answer : (3)
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(90)

(91)

(92)

(93)

(94)

(95)

(96)

(97)

Hint:

Nucleophile attacks on electrophilic centre

Solution:

Nucleophile forms bond by donating a pair of electrons to an
electrophile

Answer : (4)
Solution:

A
-

OH

(Tautomerism)

(90)

Hint:

ATRIFE Fode FRAE! g R 3TTHHUT BT &l

Solution:

TIRYHEAE SoTFg el Bl Sde = I S I S F1T &

Answer : (4)
Solution: 3ITX (4)

SR

(CRIEEESD)

BOTANY | F&fy e

Answer : (2)
Solution:
In mesophyll cells of C4 plants, PEPcase enzyme is present.

Answer : (1)
Solution:
Carotenoids and xanthophylls are called shield pigments.

Answer : (4)

Solution:

Arnon used the term assimilatory powers to refer ATP and
NADPH. These are the products of light reaction used to
drive biosynthetic reaction of photosynthesis.

Answer : (1)

Hint:

Itis a form of passive transport.

Solution:

The transmembrane channel of ATP synthase carries out
facilitated diffusion of protons across the membrane.

Answer : (1)

Solution:

According to chemiosmotic hypothesis, ATP synthesis
requires a membrane, proton gradient, proton pump and
ATP synthase. Electron gradient is not required for ATP
synthesis.

Answer : (3)
Solution:
Optimum temperature for photosynthesis in C4 plants is 30-

45°C.

Answer : (3)

Solution:

ATP synthesis in chloroplast takes place towards the stroma
side of the thylakoid membrane.

(91)

(92)

(93)

(94)

(95)

(96)

(97)
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Answer : (2)
Solution:

C 4 UTEH! 6T quiHedTas BIfdmel § PEPCase TSITgH SUferd it
8l

Answer : (1)
Solution:

PRICHTTS 3R S=2iifthct &Y TTeT 9uich el SITdT 8l

Answer : (4)
Solution:

3 3 ATP 3R NADPH &) Gefiid & & foit waifieprt a1fh eree
BT TR fobam|

T8 19T TITHAT P I8 SIS & fSi-ThT STANT Teh1eEesI &
Stageers) 3rfyfehar o) Tefeld e & AT fhar S 81

Answer : (1)

Hint:

Tg Fifsha aRas &1 td wu Bl
Solution:

ATP RIS & SR FeT a1 fSiell & IR IS &1 gared faur
B8l

Answer : (1)
Solution:

TETORTERUf HeheTT o IR ATP Heeiyul & iy f&reft, meH
YOI, WIS gy el ATP f8aT &1 3Traearadt 8t 81 ATP
LTI o AT oTarg (1 HauId Y 3Taeaesd 18 8l 2

Answer : (3)
Solution:

C4 UTCHT 3 ThTeRISRS0T & foIY S8 aoA 30-45°C &Il &

Answer : (3)
Solution:
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(98) Answer : (2)
Solution:
At higher light intensities, the rate of photosynthesis does not
show further increase as other factors become limiting.

(99) Answer : (1)
Solution:
Tripalmitin is a fatty acid.
Tripalmitin < Proteins < Glucose < Organic acids
(0.7) (09) @) 1)
This is the ascending order of the substrates with respectto
their RQ values.

(100)Answer : (4)
Hint:
The mobile electron carrier is cytochrome c that is attached
to the outer surface of the inner mitochondrial membrane.
Solution:
Cytochrome c acts as a mobile electron carrier for the
transfer of electrons between complex Ill (cytochrome bcq

complex) and complex IV (cytochrome ¢ oxidase complex).

(101)Answer : (4)
Solution:
Pyruvic acid is not completely oxidised during anaerobic
respiration.
In anaerobic respiration, pyruvic acid is partially oxidised
into alcohol and COg is liberated. Pyruvic acid

decarboxylase needs Mg++ as a cofactor.

(102) Answer : (2)
Solution:
Complex Il and complex | are respectively involved in

FADH2 and NADH + H* oxidation in ETS of mitochondria

(103)Answer : (4)
Hint:
The direct synthesis of ATP from metabolites is called
substrate level phosphorylation.
Solution:
Succinate

- . dehydrogenase ' .
Succinic acid ——=m2eM8%® 5 Eumaric acid

Y

FAD' FADH,

(104)Answer : (3)
Solution:
Net gain of ATP from one glucose molecule through
alcoholic fermentation is 2.

FARIARE | ATP T2, oR-IeTdhigs e & N3 &7 1 afed
BT &l

(98) Answer : (2)
Solution:

ITF YD1 TSI TR, HehT<T-HeeTy0T Y &R | 31feias gfeg el it &
Fifeh 3T PR AT 8 I &

(99) Answer : (1)
Solution:

SR teh awflg o &
ZIEATTTET 17T < WIS < TOThIw < ST 3
(0.7) (0.9) (1) (=1)

TE FEhaTeRI @1 396 RQ A1 & Ty | RIS 7 &
(100)Answer : (4)

Hint:

Tfiefiet Seragi e HZSIHM ¢ & 91 TaRa® ATseiaii-gadt fref!

&1 91T T8 § 81 Il B

Solution:
TECIHIT ¢ HIFIa Il (AT beq HiFdeiad) iR Bederad IV

(TTSTIPIT ¢ IMTaRITSST DIFUTaT) P §1a SeTde M1 o AR &
T wep fyefiet Serac ™ ared & ©U H BRI AT 8l

(101)Answer : (4)
Solution:

IS (e 3T, STITIET 9 & SR qUT o0 ¥ Sifaiigd =78l gl
gl

IR ST H TR 3T 37T WU | Yedlalel A Sifaaigd

1T & T COp Hh 81 2| URIRGIID 3l fSpraifaderat
HEBRD b wYH Mgt 6T smasgemdr et &1

(102) Answer : (2)
Solution:

PIFCeTad || 3R PHIFCeraT | T ATZCIDIT-3aT F ETS ¥ FADH
3R NADH + H™ afferefieor & enfiret &

(103)Answer : (4)
Hint:
ATTEITSCH § ATP & UcI&l el Ul & Fedee S

BRI hRT Bal ST B

Solution:
“i&“izk
afeats s ﬁ) U A
FAD' FADH,
(104) Answer : (3)

Solution:
TehIgel! fhuar o ATEH | Ud ToehIaT 3TU] & UTH 8 aTeTT ATP T

IE A9 2 Bl

20
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(105)Answer : (2)
Solution:
Reduction step of C3 cycle involves utilisation of two

molecules of ATP for phosphorylation and two of NADPH for
reduction, per CO2 molecule fixed.

(106) Answer : (3)
Solution:
18 ATP and 12 NADPH are required for the synthesis of one
glucose molecule during Calvin cycle. So, for the synthesis
of a sucrose molecule, 36 ATP and 24 NADPH molecules
are required.

(107)Answer : (4)
Solution:
Carotenoids, Xanthophylls and chlorophyll b are accessory
pigments that also absorb light and transfer the energy to
chlorophyll a.

(108)Answer : (4)
Solution:
Cornelius van Niel based on his studies inferred that the O

evolved by the green plants comes from H2O, not from CO».

(109)Answer : (4)
Solution:
Structure D is starch granule, synthesised due to the
products of light reactions and enzymes of carbon reactions.

(110) Answer : (4)
Solution:
Light reactions or the photochemical phase include light
absorption, water splitting, oxygen release and the formation
of light-energy chemical intermediates.

(111) Answer : (4)
Solution:
Chemiosmosis requires light energy for the generation ofa
proton gradient across the thylakoid membrane.

(112) Answer : (3)
Solution:
The primary CO2 acceptor in C3 plantis RuBP, which is a

5C compound.

(113) Answer : (2)
Solution:

Photosynthesis —

6CO2 + 12H20

Light

— CgH120g + 6H20 +
602

RUBP + CO»

RuBisCO 2(3PGA)

Carboxylation -

Splitting of water |j 2HpO _ 4HY + 0y +de™

RuBP + Op

Photorespiration | —

M Phosphoglycerate +

(105)Answer : (2)
Solution:

C3 3% & AU IROT A R TRT COp 319 & Ay thivehiRefiamor
3G ATP & 1 37311 3iR 319ad= &g NADPH & 3 37UaTT &7 T
BBl

(106)Answer : (3)
Solution:

i Th o SR Ueh Te]abIoT 3TU] P HILTUT & iy 18 ATP 3ilR 12
NADPH & 3TTaearesdl 8t &1 SHfeTT, GehioT 31U] b TeeTsur & oIy,
36 ATP 3iR 24 NADPH 31U[31} hl 3Taeardha 8l 2

(107)Answer : (4)
Solution:

IRIfATTSE, S=eifthet 3R FARIhe b TERIS quidh & ST Hap1eT &l
of} 3rgeNfd et & 3R ST Bl FARIfheT a | TAHIART B &

(108)Answer : (4)
Solution:

DI (I i e = 3T 3TEIT & SR W AFHM 1T fob &Y
el §RT ST Op COp H &l H HpO ATt &1

(109)Answer : (4)
Solution:

TR D ¥ Ul 8, i1 epTel 31fyfeharmait o Saurer 31N e
STRIfRT3T b USTTSHI o HRUT Tl 8IdT &1

(110) Answer : (4)
Solution:

U127 JTFIThATST T TepToRTTIT TRl & TepTaT SNTUl, SeT bl
fogres, sifai i iR uarer-swif Tamafe qegafal &
T 8 81

(111) Answer : (4)
Solution:

qTIeIpISS et § MICH TaurdT & IedTe o foly THITRTRYT &g
TR1eT SHot! i TIeT e Blch 3

(112) Answer : (3)
Solution:

C3 UIey # wrifires CO, IT8 RUBP &, ST U 5C 31 &

(113) Answer : (2)

Solution:
EEARERC L — | 6C0O2 +12H20
T

—

CgH1206 + 6H20 + 602
GACIER it — | RUuBP + CO2

RuBisCO 2(3PGA)
<ot ot faare |j 2Ho0 _ 4H* + 0y +4e™
YT — | RuBP + 02

RuBisCO _« ﬂﬁ i +

21
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| | | Phosphoglycolate

(114) Answer : (3)
Solution:
In C4 plants, OAA is formed in the mesophyll cells which

then forms other 4-carbon compounds like malic acid or
aspartic acid in the mesophyll cells itself which are
transported to bundle sheath cells.

(115) Answer : (1)
Solution:
Even though water is one of the reactants in the light
reactions, the effect of water as a factor is more through its
effect on the plant, rather than directly on photosynthesis.
Water stress causes the stomata to close hence reducing the
COy availability. Besides, water stress also makes leaves

wilt, thus, reducing the surface area of the leaves and their
metabolic activity as well.

(116) Answer : (1)
Solution:
In the photorespiratory pathway, there is neither synthesis of
sugars, nor of ATP or NADPH.

(117) Answer : (3)
Solution:
Oxidative decarboxylation occurs in the mitochondrial matrix.

(118) Answer : (2)
Solution:
Fermentation accounts for only a partial oxidation of glucose
molecules.
Phosphoenol pyruvate, a 3-carbon molecule, converts into
pyruvic acid (3C) during glycolysis and it acts as a substrate
for both lactic and well as alcoholic fermentation.

(119) Answer : (2)
Solution:
In citric acid cycle, a-ketoglutaric acid (5C) undergoes a
series of oxidation reactions to form malic acid (4C) that
oxidises into oxaloacetic acid, the first member of the cycle.
In between these, process of dehydrogenation,
decarboxylation, oxidation and substrate level
phosphorylation occurs.

(120)Answer : (4)
Solution:
During oxidation within a cell, all the energy contained in
respiratory substrates is released in a series of slow step-
wise reactions, controlled by enzymes and itis trapped as
chemical energy in the form of ATP.

(121)Answer : (2)
Solution:
When 3-phosphoglyceraldehyde (PGAL) is converted to 1,3-
bisphosphoglycerate, two redox-equivalents in the form of
two hydrogen atoms are removed from PGAL and

transferred to a molecule of NAD™ .

|_ | eremiae

(114) Answer : (3)
Solution:

C4 Ul 5 OAA quHed e BIfrepTalt # gl 7, 5l i
Tofeas Bl § & dfdd et a1 TauTice 3 S 3y 4-
BT At a1 FmfoT e & 92 gat aTress SIfaTe A of SR
ST B

(115) Answer : (1)
Solution:

Ta1eT SRIfRaTeT & St SIRYHRST A | TP B, U HRS & wUH STel
BT UG A ThTeT HeeTyor IR T8, 9fceh ey W aifed 8idr &1 el
& FHHY P HROT T & 9 B H CO P IueTeerd & &l STt &l
S SfIRD, e i it | ufral JRe7 ATl 2, iy af<ray &t
HAE &7 3R IAhT SuraeRy Tfcrfafe off 8 et B

(116) Answer : (1)
Solution:

TRTAIGTT g2l & = Y 91hT T HTuUT &Il 8, 7 & ATP a1 NADPH
Eall

(117) Answer : (3)
Solution:

Sffafirt fdaifaichiaRu Age aireae #fgad # g

(118) Answer : (2)
Solution:

f3pUa = 71Nt & STULRTT BT e STRAD =T Bl &1
HIEDTE UTgHAC, U 3-BIe T, TZHIATS I & SR UIgsidd
3reet (3C) H uRafcia & Tl & @ik T8 faeas 3iR Temielett fhuas
SFI1 & Iy U Fehge & U H BRI ARl &

(119) Answer : (2)
Solution:

fafea aret e A a-hlerefeRa 3ra (5C) iaiaur rfirfomamar
&6 U SRIAT § TorRa 8, fHE #felds 3t (4C) g9 &, 5T
SHfFITRIC e 3Tal | STaiigd 8l ST &, 511 9sh T Ugel] Haed o
3 d H fARTsgIoTIanur, fawmTaifaicet [xur, Sifaiiem<ur 3R

HeHgC IR o iR 1hRUT &1 Ufeha alclt 5

(120)Answer : (4)
Solution:

T DIfAHT &b IR TR0 & SR G Teged H (Afed aft
Folt TolTeH gRT A et arurag sifrohanatt 6 te sRkaer 5 9k
Bt 2 ik 78 ATP & %U 5 IRmIfes SHoff &t ave | Bt 2

(121)Answer : (2)
Solution:

9 3-PEPITRICSEES (PGAL) @ 1,3- e RpifieRe &
aRafcT b ST &, 1 a1 SISl URHTIST & &Y H &1 Yeidd-
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. Two hydrogen atoms are required for the reduction of
single NAD™.

Thus, for four hydrogen atoms, two molecules of NADY are
reduced.

(122) Answer : (1)
Solution:
In the matrix of the mitochondria, the complete oxidation of
pyruvate by the step-wise removal of all the hydrogen atoms,
leaving three molecules of CO2 occurs .

(123)Answer : (2)
Solution:
Maize is a C4 plant. The first stable productin C4 plants is

PEP.

(124) Answer : (4)
Solution:
Light harvesting complex contains chlorophyll a along with
other pigments.

(125)Answer : (4)
Solution:

NADP reductase enzyme catalyse the reduction of NADP™ to
NADPH + H™ is located on the stroma side of the membrane.

(126) Answer : (1)
Hint:
C4 plants show saturation at about 360 pIL_l.
Solution:
C3 plants (tomato) show saturation only beyond 450 uIL—1
(ppm). The light reactions (photochemical reactions) are
temperature sensitive but they are affected to a much lesser
extent. The dark reaction (biosynthetic reactions) being
enzymatic are temperature controlled. As the photosynthetic
products accumulate in the mesophyll cells, their
photosynthetic rate decreases.

(127)Answer : (4)
Solution:
O is reduced to water in oxidative phosphorylation which

takes place in the matrix of mitochondria.

(128) Answer : (3)
Hint:
During oxidation of succinate, FADH2 is generated
Solution:
Cytochrome c oxidase complex contains two copper centres.

Cytochrome c is a protein attached to the outer surface of
inner mitochondrial membrane.
Ubiquinone receives reducing equivalents via complex Il.

TG, PGAL 1 8T 3y STt £ ofik NAD™ & 370 o weriaRa &
NINE]
. el NAD™ & S19ag o foIy a1 eTggiorT oAUt Y arraegasd
HNI
T UBR, TR BT AT & foly, NAD 3 < 319 argafia &
ick

(122) Answer : (1)
Solution:

AIECIpifgaT & Hfgad o Wil BTG RATURTT & TRuEE i |
BT 3 UISHAC T YU SiTe=ur BT &, fIRT COp & i 310 Jh
Eokd

(123)Answer : (2)
Solution:

HIHT T C4 UIGY &1 PEP, C4 UTHl H T2/ T IATE 81T B

(124) Answer : (4)
Solution:

TepTeT HIEUT Tl A TR a & HI-HTe 317 quics +ff B 2|

(125)Answer : (4)
Solution:

NADP Redesi Usiigd, NADP + 3 NADPH + H * & srqeg= &1
IARC PR &, T fSTedt T T Iag R R 8 &1

(126) Answer : (1)
Hint:
C 4 GIET T 360 pIL 1 wR Ty gurfa &1
Solution:
C3 Y (€97eX) ae 450 pIL 1 (ppm) F s Tgf sarfa &1
Tap1eT ARATHATY (HPTIRNRIS AIfYfehant) ag Tt Bt & oifes
FE DH T 81T 51 AT ATITRAT (Stazigerdt arffoham)
ToITgHY 8 &b HROT I R it &1 S € uaer Teerd) St
quiETd DIRNBTST H ST BI &, ST Tehrer Geers &= & 81 STl
2l

(127)Answer : (4)
Solution:

affereftenrt iiepIRefiaor § Op Tet  aifadird 81 STl 8, T8
Ui AT frgaT Y et # afed gkt 81
(128) Answer : (3)
Hint:
HfRTC & SAIPRUT & SR, FADHy Scul 81T &
Solution:
HIZSIDM ¢ TS PIFUeTdd H & HIR H7g 8l &
ZCIhIT ¢ U WIS & ST ATgCIhi -t i ST et Bl arest
g o Hetdl & 8l
IR, PTFUIET Il b HTET | TR T UTH Bl 8|
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(129) Answer : (1)
Solution:
There can be a net gain of 38 ATP molecules during aerobic
respiration of one molecule of glucose.

(130)Answer : (2)
Solution:
Pyruvic acid is reduced to lactic acid by lactate
dehydrogenase.

(131)Answer : (1)
Solution:
Pyruvate dehydrogenase can catalyse oxidative
decarboxylation reaction which is as follows:

M2+
Pyruvic acid + CoA + NADY % Acetyl CoA + COy +
Pyruvate

dehydrogenae

NADH +H™*

(132) Answer : (2)
Solution:
Complex Il receives reducing equivalent during oxidation of
succinate in the citric acid cycle.

(133)Answer : (4)
Solution:

During fermentation, NADH + H* is utilised, not formed.

(134)Answer : (3)
Solution:
Lactic acid is a three carbon molecule.

(135)Answer : (1)
Solution:
Phosphofructokinase is the pacemaker enzyme of glycolysis.
It catalyses the conversion of fructose-6- phosphate into
fructose-1,6-bisphosphate.

(129) Answer : (1)
Solution:

AT % & SR @It & Ue 310 § 38 ATP 310] UTH &l Taval
gl

(130)Answer : (2)
Solution:

URIfd 37T, etdee fSERSIfoS gRT ofded 3l H STqafyd 8T
2l

(131)Answer : (1)
Solution:

qTghdc fSRTsgIforT, aifaiiar! faammeifaet iaxor Tfyfehar a1
IR PR bl & S 59 PR &
Urgfdes 3feT + CoA + NADY

2+

N
UEEde
IEEEIECE

wfifeet CoA + COo + NADH + HY

(132) Answer : (2)

Solution:
Dircera I, g amat T H AfaRmT & SaIaxuT & SR
STl FEged UTY el 2

(133)Answer : (4)
Solution:

fpue & SR, NADH + H &1 Suai foba STrar 8, 7 fob g sar 81

(134) Answer : (3)
Solution:

cifeFea 3T7el Uab <ii- ra 31 2

(135)Answer : (1)
Solution:

q’)\i‘{'bhl‘;hcrdlq’)ls“l\ﬂ, ‘cdlsdﬂ(*llslr@\i-l T U TolTgH HEH

PACIS-6-h P b PaeIol-1,6-[SpIRUT H HUICRUT T S
PRATE|

ZOOLOGY | Sig fa=m

(136)Answer : (2)
Solution:
The secretion of gonadotropins (LH and FSH) increases
gradually during the follicular phase, and stimulates follicular
development as well as secretion of estrogens by the
growing follicles.

(137)Answer : (1)
Solution:
Oogonia, spermatogonia, primary oocytes and primary
spermatocytes are diploid while other given structures are
haploid.

(136)Answer : (2)
Solution:

TSI (LH 3R FSH) &1 H1d §edhiar TTaee & aRM efR-¢fiR
I & 3R gedhR uRae & Trer-re geaeficl Yoo | Tegior &
H1a 31 URT Far 8l

(137)Answer : (1)
Solution:

ST, YePIIST, HTeIfHes 3ied iR Hrerfies ehmurentfereT fefora
B & e 3 < T TR ST
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(138)Answer : (1)
Solution:
The urethra originates from the urinary bladder, extends
through penis and opens outside via urethral meatus.

(139)Answer : (2)

Solution:
Seminal plasma is rich in fructose, calcium and certain
enzymes.
(140)Answer : (4)
Hint:
Endometrium is the innermost layer.
Solution:
Uterine wall
Outermost Middle Innermost
(Perimetrium) (Myometrium) (Endometrium)
" -
External, thin Undergoes Glandular layer that
membranous contraction sheds off during

during parturition  menstruation

(141)Answer : (2)
Solution:
In humans, oogenesis is initiated during the embryonic
development stage whereas spermatogenesis begins at

puberty.

(142) Answer : (2)
Hint:
Thymosin helps in cell differentiation of T-lymphocytes.
Solution:
Placenta acts as an endocrine tissue and produces several
hormones like human chorionic gonadotropin (hCG), human
placental lactogen (hPL), estrogens, progestogens, etc. In
the later phase of pregnancy, a hormone called relaxin is
also secreted by the ovary. During pregnancy, the levels of
other hormones like estrogen, progestogens, cortisol,
prolactin, thyroxine, etc, are increased several folds in the
maternal blood.

(143)Answer : (1)
Solution:
Renin is secreted by the JG cells of kidneys.

(144)Answer : (1)
Solution:
Thyroxine can cross the cell membrane while other listed
hormones cannot, as thyroxine acts via intracellular
receptors.

(145) Answer : (3)
Solution:
Endocrine glands secrete only hormones.
Adrenal and parathyroid glands are only endocrine in
nature.
Pancreas is a composite gland.

(138)Answer : (1)
Solution:

AT, A | S BT 8, R1eT e ST B & SR R gR &
TR 3 TR b AR G 81

(139)Answer : (2)
Solution:

IhRT TATGHT THae T, HIITH iR H& TSI | TRGT &Il 5

(140)Answer : (4)
Hint:
Temfem Te ofiad) we Bl

Solution:

mafereft fafa
¢ y mﬁm
Rl g T A
(fEfzmm) (R (deEE)
* +
TSR rfi ot 2

(141)Answer : (2)
Solution:

3fESTT U1 T gREYT 2aeer & SR Y6 BIT & STafch FehorT
TIFTRY &R g el 2

(142) Answer :(2)
Hint:

oA T-felrhIaTSeH & PIfTeT favie | Heg oal B

Solution:

QTORT, 3T S &b w5 H +ff B e & 3R el 8 oI foh
HHa SRIG THIIGIU (hCG), ATHa 3TRT atdeia (hPL), WgIor,
IoTECIoT NS ST HRa &1 TRTHAT i JaxTed UTae1 H 3ieIer
SR R Ares Tas gt off wnfad fosar Strar &1 wmfar & SRm
3T BT ST UG ISTT, TIoIC T, ifesier, Hetfae, emgifaay
NS &Y oft AT A1 &b 6 | DS O I ATCH B

(143)Answer : (1)
Solution:

R, gards BT IG PIRET §RT | BT 2

(144)Answer : (1)
Solution:

ARIRIfRT, DIADT el Bl IR R HevelT & STafd 37 Yellag e
el R Fepd!, 1T RN AT DI RT Tfei b ATeed J BRI
HA B

(145) Answer : (3)
Solution:

3T ST et &I T H1d Bl &
arfergarn iR IRTTERTES AT dhact Sid:ard Uafay &t 8t €1
=R Uep fAfSiq wfe B
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(146)Answer : (2)
Solution:
The adrenal cortex secretes glucocorticoids and
mineralocorticoids. Glucocorticoids stimulate
gluconeogenesis, lipolysis, proteolysis, erythropoiesis.
Cortisol is involved in maintaining cardio-vascular system as
well as inhibits inflammatory reactions by suppressing the
immune response. Mineralocorticoids increase blood
volume, blood pressure and thus, GFR.
Glucocorticoids also inhibit the cellular uptake and utilisation
of amino acids.

(147)Answer : (3)
Solution:
Insulin is a hypoglycemic hormone. Itis secreted by B-cells
of pancreas. It stimulates the conversion of glucose to
glycogen i.e., glycogenesis in the target cells.
Thus, disruption of B-cells will lead to increased blood sugar
level i.e., the person will become hyperglycemic.
Gluconeogenesis is the function of glucagon.

(148)Answer : (2)
Solution:
Melatonin is secreted by the pineal gland that helps to
maintain the biological clock.

(149)Answer : (2)
Solution:
Thymus is the site for differentiation of T-lymphocytes that
provide cell mediated immunity.

(150) Answer : (3)
Solution:
In males, the urethra acts as the urinogenital duct. Ureter
and urinary bladder are the parts of the excretory system
only. Seminal vesicles are paired sex accessory glands.

(151) Answer : (3)
Solution:
During the secretory phase, progesterone levels are high as
itis produced by the corpus luteum after ovulation.
The secretory phase of the uterine cycle aligns with the
luteal phase of the ovarian cycle, which occurs after
ovulation.
The secretory phase makes the endometrium highly
receptive to embryo due to progesterone-induced changes.
The follicular phase occurs before ovulation and aligns with
the proliferative phase, not the secretory phase.

(152) Answer : (4)
Solution:
The male sex accessory ducts store and transport sperms
from the testis to the outside through the urethra. Sperms

(146)Answer : (2)
Solution:

TS doge PpIchEed 3R ARamIEnsed o Grfid a=dl
B DI IgSH dIFaoH e, fadiegfas, micarars e,
RGBT ST P &1 PN, g2 Fargeil I Y a+11g

@ 7 AfFfeld 8 & iR el & TfiRer 1T i Sare reBRY
rfirferaratt @Y A B AR EHIgSH h A, Thad 3iR
T UBHR, GFR ! 9T &

ADIDICHIGEH ST 3] b DIRTHIT IR 3R SuINT & oft
et &l

(147)Answer : (3)
Solution:

Sl U SIgURCITSRIfe S 8| T8 R 1 B-PIRIBIRN TR
FII BT 81 T8 DT Dl TSP | gt 1fd, ded
PIABI3N & TATSH NI Dl ST el &

O YBR, B-DIABIAT & [Iee T Th AHRT BT TR ¢ ST 37,
Ifh BERIATSAHS & ST

TSI O, T &1 $1 2

(148)Answer : (2)
Solution:

oA, ffaret ufe gy Enfaa 81ar & 9o I8 S o<t o FrRiffa
P H TERIAT el 8

(149)Answer : (2)
Solution:

A, T-folrhITSeH & favicianur &t Tt & ST difrenT ATfedd
TR TeM ARl & |

(250) Answer : (3)
Solution:

TSI H TR, FASAN] aTfeeT & w9 H BRI Bl 8| T 3R
AT had I A B T 51 Y1 A i e FerIe Hia
RIS

(151) Answer : (3)
Solution:

T UTERT & SR, TR ol &R 318 8idT & Fifdh I8
I & q1e B IU egfed™ gRT A g 81

eI Tk b1 HT HTaReT ferauifel T o gfeaet Trawel & |e
TR BT &, SN TSI & 9IS el 2

ToReRH-URA gRacHT & SR STt Traeer TSH{ea™ bl gur & ufi
SRIBEPEYRICCEIRIE]

YehT TTaee, STSIeEH & Uget Bl & TR TgRigar HTawel & |ref
TR BT &, 7 b Al viveeen & e

(152) Answer : (4)
Solution:
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mature in these ducts. The male sex accessory ducts include
- rete testis, vasa efferentia, epididymis and vas deferens.

(153)Answer : (4)
Solution:
ADH interacts with target cells in the kidney and helps in
regulation of homeostasis. ADH is released by the posterior
pituitary gland in response to an increase in the osmotic
concentration of the blood plasma. Osmoreceptors are
presentin hypothalamus. ADH acts on DCT and collecting
duct.

(154) Answer : (3)
Solution:
Prolactin: Causes the alveoli in the breasts to produce milk
Oxytocin: Causes the muscles around the alveoli to contract,
which pushes milk out through the lactiferous ducts.

(155)Answer : (4)
Solution:
TSH (Thyroid Stimulating Hormone) released from the
anterior pituitary gland stimulates the thyroid gland to make
and release thyroxine. Glucagon is released by pancreas.
Release of calcitonin is regulated by circulating levels of

Ca+2 in blood.

(156) Answer : (3)
Solution:
Ovary — Osteoporosis
Adrenal gland — Addison’s disease
Pancreas — Diabetes mellitus
Thyroid gland — Simple goitre

(157)Answer : (2)
Solution:
Allergy/hypersensitivity involves inflammation.
Glucocorticoids are anti-inflammatory hence used to counter
allergic response.

(158) Answer : (4)
Solution:
Spermatogonia lines the seminiferous tubules and give rise
to spermatozoa which are released into the lumen of the
seminiferous tubule.

(159)Answer : (3)
Solution:
During ovulation, the secondary oocyte surrounded with
zona pellucida and corona radiate is expelled into the pelvic
cavity.
During oogenesis, differentiation of gametes occurs before
the completion of meiosis.

TN i e HETIe AfeldTq eATUL3TT ol guuT | FART & HIETH ¥ qTex
&1 IR Ffed BT & SR o STl 51 §7 Afciapralt § 1] ufRuerd sk
21 g8 il werges Aferatett  enfirer & - gy Sifeter, g arfaar,
affergeoT 3R geh arEh |

(153)Answer : (4)
Solution:

g% o ADH 18 BHIfABIRN &b H1 S=aRIShIT B & 3R FAFATI
& 2 eI $ll 81 ADH I TATSHT ohl IRIERU Hiseell 7 gfg
&1 JFfeaT o uee Gy IS GRT A fohaT ST &1 srsunter s #
TRTERUT IT8T SUFEIT 81d &1 ADH, DCT 31k HIg0r arfeft R it
HAT 81

(154) Answer : (3)
Solution:

et fare: T § T BT H Y &1 I Bid &
STTRACI: T iUt b ST bl UTRRAT & Hpar T PRI I
&, STl greanfeft Afctepratl & H1ed™ J g8 b e H FERIdT el

H

(155)Answer : (4)
Solution:

317 IRIY IS F AT & aeT TSH (ARRIS Je 0 8 1) RIRIES
7ife} T YRR M &R e B & AT IR et 2
T SR Tfd B 81 el ar Ema < cate B
GREET FCRI gRT R fobam ST 2

(156) Answer : (3)
Solution:

IS — JATFRIIRIEH
arfargere bfel — Tfew I
AT — SN AfcleH
AUTRISS i — TR viE

(157)Answer : (2)
Solution:

veror/aTforaaeefierar 7 ener afafald gkl 51 T eiicaised
amerief} B € SHfely ge7enT SUANT Tersiia Jrfiar & fveg favar ST
8|

(158) Answer : (4)
Solution:

YEPTUST, YHoTIh ATCIDBISN BT SRR BT & SR TSI Bl

S et & ST IehorTan Aftatalt & o (TeT) | Aifed fhy 91T 2

(159) Answer : (3)
Solution:

ST & SR, ST UGRieT 3R HRAT ST 4 foRk facfiae sied
1 S0T JaT H Frsep1id o= & S 21

SFEST & SR, TGP & IR 811 H Ugel oI T et
&I 8l
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(160) Answer : (1)
Solution:

(161)Answer : (4)
Solution:
The process of childbirth is called parturition which is
induced by a complex neuroendocrine mechanism involving
cortisol, estrogens and oxytocin.

(162) Answer : (3)
Solution:
In the later phase of pregnancy, a hormone called relaxin
(protein hormone) is secreted by the ovary.
Each fallopian tube is about 10-12 cm long and extends from
the periphery of each ovary to the uterus.
The uterus opens into vagina through a narrow cervix. The
cavity of the cervix is called cervical canal which alongwith
vagina forms the birth canal.
Each seminiferous tubule is lined on its inside by
spermatogonia and Sertoli cells (nurse cells).

(163)Answer : (4)
Solution:

(160) Answer : (1)
Solution:

(161)Answer : (4)
Solution:

ST & ST I TehdT Bl TRId BT ST & ol DI, g o 3iR
i § I Ua Sfee diareia.ard frafafe & uRka gar 2

(162) Answer : (3)
Solution:

TR & g1C & IR H, TSI GRT RetfaR (MEH 8M) A
HRIEEEIERECIN]

e thel T AfeteT ST 10-12 cm e 81T § 3R U sieier
&1 aRfer 37 mfery o el BIl 21

mtery wep Hebtol mifery ftar o et I M H Gerar g1 wferd Har
&Y 6T 1 HHaT ATt e & i AN P A1 T AT BT {00
e Bl

TR YehoTIdh Aiel &b R Yehor- 3R Feiei] PIADB (T
BIfAHIY) Ercll 81

(163)Answer : (4)
Solution:

(7 & fo == w1 wE)
= (3)

eI G N HS GAGDRT 81 &, AT Y & I & Ay Horf e axad
H
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Middle plece
Mitochondria
([energy source for swimming)

The middle piece possesses numerous mitochondria, which
produce energy for the movement of tail.

(164)Answer : (2)

Solution:
Placental villi
Cavity of
lerus
Umbilical cord | s
with its vessels —T Yol sac
' — Embryo
— Plug of mucus
in cervix

(165) Answer : (2)
Hint:
Characterised by presence of antrum
Solution:
In human females, oogenesis starts during embryonic
development, meiosis | initiates at this stage but this division
gets completed within the tertiary follicle. Later, tertiary
follicle is transformed into mature Graafian follicle.

(166)Answer : (2)
Hint:
Movement of foetus starts nearly in the middle of gestation
period in humans.
Solution:
First movement of foetus and appearance of hair on head

are observed during the 51 month of gestation. By the end
of 241 week, fine hair on the body, eye lashes are formed

(164) Answer : (2)
Hint:
3 TTORI & UISeh WOSRUT TeHT |

Solution:

(165)Answer : (2)
Hint:
TER (IeH) Y SUfRARY gRT rfyerfara

Solution:

Afeeratt 4, qoft e & SR sfes 9 g% 8l & 3R
arefgAfeTT | oft Sft TROT A %6 B & oHfhe T8 fToT arcia ash
% SRM el1ge Gedh & HioR T 21 ST &1 916 5, Jeltged Jeb uRuad
U g A 9t S B

(166)Answer : (2)

Hint:
TG H 0T Y et Tfafe & Feg § TR Bl 2

Solution:

TyfaReer & ied HTE & SR T 6l ugeft frefierdr ik R W arett
T STHT HFFI: ST ST Havdll 81 BS HTE & 37 T T IRR TR
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and eye-lids get separated. By the end of 12th week, most of
the organ-systems are formed. Heart is formed and starts

beating at the end of 1St month of gestation.

(167)Answer : (1)
Solution:
Melatonin of pineal gland and MSH of pituitary gland
regulate pigmentation of the skin.

(168)Answer : (4)
Solution:
Thyroxine, erythropoietin, cortisol and testosterone stimulate
erythropoiesis, out of which, only testosterone is a male sex
hormone.

(169)Answer : (4)
Solution:
Receptor binding and the associated cellular cascades
amplify the hormone signals allowing hormones to act at
very low concentrations. Hormones are non-nutrient
chemicals which act as intercellular messengers and are
produced in trace amounts. Hormones which interact with
intracellular receptors (e.g., steroid hormones,
iodothyronines, etc.) mostly regulate gene expression or
chromosome function by the interaction of hormone-receptor
complex with the genome.

(170)Answer : (3)
Solution:
Protein hormones (MSH) react with receptors present on the
surface of the cell, and the sequence of events that resultin
hormone action is relatively rapid. Steroidal hormones
(testosterone, cortisol, etc.) typically react with receptors
presentinside a cell. Since, their method of action actually
involves synthesis of proteins, their effect is observed at
relatively slower rate.
Epinephrine is an amino-acid derived hormone.

(171)Answer : (3)
Solution:
Gastrin acts on the gastric glands and stimulates the
secretion of hydrochloric acid and pepsinogen whereas GIP
inhibits gastric secretion and motility. They can be
considered antagonistic to each other.
Responses of the endocrine system are often slower than
the responses of the nervous system; although some
hormones act within seconds, most take several minutes or
more to cause a response.

(172) Answer : (3)
Solution:
Parathyroid hormone is the major regulator of the levels of
calcium ions in the blood. The specific action of PTH is to
increase the number and activity of osteoclasts. This results
in elevated bone resorption, which releases calcium ions
into the blood.

RIAIT 9 ST1cht 1 RN T8 o 31 O AfSapieT ST- ot Fmfor &
ST &1 Tfafe & Uger HIE &b 3id deb g (i & ST & For
TSHT YR TR <l B

(167)Answer : (1)
Solution:

fferrer hfel &1 Hereie iR gy 3l 1 MSH e et auiesd a1
[RRIESEAGIE]

(168) Answer : (4)
Solution:

oI, TReNURfe, PIfEHIe 37k exeRexH g a1
IR B &, I hadt e U 4o foftT 81 8l 21

(169)Answer : (4)
Solution:

&I 95 HH Hisll 3 DRI PR Hebcl &1 EH {R-U1 A Bl &
ST SRR HagraTee P B9 H B P & AR 5 bH HHTH
I BN &1 BT ST SFcT-pIRreh I TTfe & el RER 2T et &
(ST, TS EMH, SRTSIARRIFHA, 3Mfe) SATRTR -1 & rer
EFIA-IE TR T sraRfdnan I S sifireafs 2 TurgE B
IR B &

(170)Answer : (3)
Solution:

WIS 8 (MSH) PIfreT 6 Hefg 1R Iuferd rfeai 9 o
B &, AR TN BT B oITes IRUTFRERHY S fohaT 81l 8,
ST <iiel BIaT &1 TS 8F M (CFCCRH, DA, 37TTS)
SIFTAIR TR DHIIGHT & 37eR Iuferd feat & S1gfonan v 21 Fifes,
S foharT ugfer = areera ® M T HeeruT anfiet 81T &, 3afaiy
ST UTa Ve et T & <@ ST B

QRO Tep 3FAT-3Fet egeast 8HH 81

(171)Answer : (3)
Solution:

AT, SToR AT IR BRI el & SR BRI 37 3R
UFSEHIO & E1d T ST BHaT & Sfdfh GIP STox J1d 3iR
TRrfTeTa 1 el 81 I ep-GHR T fARIef AT ST Hebel 81
3ict:ETd} T Y ATHAT HaER TifepT o bl Jfearatt &t getem o
it Bt &; ETeTifh T8 8 Fo e & IR FH I &, orfdh
arfeieier 81 IR T HRUT 4 H B e a1 I S1feisd T
KK

(172) Answer : (3)
Solution:

URTIRRIZS B Th H HcRrad 3R & &R &1 WE ™ 8
PTH & fafere foharm snfeeaiderie &) dvear 31k IihadT o) sgHT &1
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(173)Answer : (2)
Solution:
The adrenal cortex can be divided into three layers. They
are:
Zona reticularis - Innermost layer
Zona fasciculata - Middle layer
Zona glomerulosa - Outermost layer
Aldosterone is released by the outermost layer of the
adrenal cortex called zona glomerulosa.
Aldosterone is the major mineralocorticoid. It regulates
homeostasis of sodium and potassium ions, and helps
adjust blood pressure and blood volume.

(174)Answer : (4)
Solution:
In adult women, hypothyroidism may cause menstrual cycle
to become irregular. Melatonin influences metabolism,
pigmentation, the menstrual cycle as well as our defense
capability. PRL can directly suppress GnRH secretion by
acting on neurosecretory cells in the hypothalamus. Lack of
GnRH can affect the menstrual cycle.

(175)Answer : (4)
Solution:
The female external genitalia include mons pubis, labia
majora, labia minora, hymen and clitoris.
The opening of the vagina is often covered partially by a
membrane called hymen.

(176) Answer : (2)
Solution:
The mitotic division called cleavage starts as the zygote
moves through the isthmus of the oviducts, towards the
uterus and forms 2, 4, 8, 16 daughter cells called
blastomeres. The embryo with 8 to 16 blastomeres is called
a morula which has about the same size as that of the
original zygote.
The blastomeres in the blastocyst are arranged into an outer
layer called trophoblast and an inner group of cells attached
to trophoblast called the inner cell mass. The trophoblast
layer then gets attached to the endometrium and the inner
cell mass gets differentiated as the embryo. After attachment,
the uterine cells divide rapidly and covers the blastocyst. As
a result, the blastocyst becomes embedded in the
endometrium of the uterus.

(177)Answer : (3)
Solution:
First meiotic division in primary spermatocyte (diploid)
results in two secondary spermatocytes (haploid). Sperms
can have either (22+X) or (22 + Y) as their genetic
constitution.

S IRUTFRRY ST T Jocd ™ §¢ Tl &, e’y 3

SRR 3 Npard &1

(173)Answer : (2)
Solution:

a1feigere dege dI o uval H faTfeia fovar ST FendT 81 9 8

STHT B erTeT - 96 URa

ST T e IR - e STt uRel

TeeRCRIH, JTfEgad Jogre dhT Fad et IR ST T e T |
Hiferd BT 81

TeeReRH J&d FrRAIDiichigs 51 I8 Aifea iR grelRad st
& AT Y AT e 8, 3R Tham iR Wb Smae ot
TN PR H T el B

(174)Answer : (4)
Solution:

T AReTI3N H, ETSNARNISSSH b BRI 31T agh AT &
Fehdll &1 HATCHA SUTTERI, ISTahdl, ST Tgh & HTRI-1ef TR &
&7l 1 oft T aval 81 PRL 83U A dfdrard dIframmai
R G FRB GNRH TG DI e 97 FhaTl 21 GnRH &HY Y 31t
Teh ! THTIAT R Hacl! &l

(175)Answer : (4)
Solution:

ST o STET SN 5 HI= S, AT AT, oI fem /g,
ETgA 3R WY | el 1
I SR YT 8T8 T fSTeft § 371f1e Hu A GepT &l 81

(176) Answer : (2)
Solution:

e A TG T O %6 81T & ofd el fSaaTeT &
ST 9 BRI §U T T AR I & 3R 2, 4, 8, 16 FfT
DIfABTST T 0T Il & e PRIPES Pecl &1 8 H 16 PREAGS
3Tl 0T DI AT Bl ST &, fIHeT SMBR T Je Il B
FHH BT 8

DHRBYS H HRIES Ueh < U= H Saferd axcit & fe i Ra
HEd & AR ATDRD F I BIABTS & T TARD g D TIRD
PIfADT TE HEcl &1 NYDRD R b TSMEa | s ITelt & iR
3ATARE PIRNHT g HUT & U H AT 8 1l 81 I & a1,
THfeRT 1 PRI Toft F f1ior Bt & 3R saReifee @l e
orelt 81 aRumReRey, HREYCT Tferd & Temfaa J uReg & Sirr
2l

(177)Answer : (3)
Solution:

Ui oo iereT (fBforeT) # wert srefga farror= et uRorms &
fochare gepTureifaTenTd (Tfore) el 1 gepTujai & ST Heed

31
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(178)Answer : (3)
Solution:
Trophoblast gives rise to chorionic villi which gets
surrounded by uterine tissue and maternal blood.

(179)Answer : (3)
Solution:
Number of days/year = 365-366

365
So number of eggs produced per year = - ~ 13

(180)Answer : (2)

Hint:
Melanocyte stimulating hormone.
Solution:

Nature

Source .

Hormone ||of Function

h gland

ormone
Melanocyte Stimulates
stimulating Peptide Pars . synthe5|§
hormone intermedia||of melanin
(MSH) pigment

FHYFITAT (22 + X) TT (22 + Y) & Tl &

(178)Answer : (3)
Solution:

AR TIRIG 3GR DT IeTl BT & Sl TR & el 3R A1 Th
BIENERIN

(179)Answer : (3)
Solution:

T Y § A1 Y GeedT = 365 T 366
gaferT Uiy af SeuTfed aferuat & Fear = 22 ~ 13

(180)Answer : (2)

Hint: .
HolANIgC ITIoldh MM |
Solution:
. g 6 .
il s Wi e
FoMISE STD o AT quTeh b FIeTor
MM (MSH) greHIfsar & aRd axAT
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